[UABHZ -]
SM5FE28 LPAHX—EHE

— R ERERI(CSE) (BiiA)

EAX¥E| FHEXS == Em
0~10m 922 H/m
10.1~15.0m 900 MH/m

1,980 15.1~20.0m 878 MH/m
20.1m~ 856 MH/m

LPARERZICEIHEHI(CSE) (Bt3R)

FHE S
5m 6,590
15m 15,700
25m 24,370M

XEAHE+RHEHE (FAEXREHEEM =BADHAHE
(51) LPAH R55mE DS S

-AER: E AR R 1,980 + R E R & 5071 =7,051H

1 5071 =5.5m x 922/

(FI2) LPARISMERABOSE
-NERE AR E1,980M+ R EH T2 13,720 =15,700MH
%2 13,720 =10m x 922 +5m x 900

OLPHRHEDHHEAIZDOLNT
B L LPARMEDERILZRS-O. RMEREHE | (RHEOEBIGCTHEEMZRAZE
THRE)ZEALTLET,
KIERHELE]
LPARDZHAI G TCHEATHEBERHEE - MEARE - BHESE) TEIL LW KHETY,
XIEEME L
LPARDCHERAZICIECTEX LWL Z{HETT,

@ UITATANVDEREHETIY
MU TE. BEHRO—XIIEOEEHRAGRETIVECAELTEYEY,

KELLE, LPAR BV F—ABREELZE,



